| Syllogism (Part-1) |

Give answer
(a) If only conclusion | follows
fa oheret Rt JoT T2l ©

(b) if only conclusion Il follows

Tfe haer Frewd fgdar a8t §
(c) if either 1 or 1l follows
T A g o1 fydta wdt €
(d) if neither I nor 1l follows
AT A g TR 7 € g wEt g
(e) if both 1 and 1l follow
Tfe A1 g qer faeter wet &
. Statements (H2F)
(1) Some players are singers/&s ﬁaw-s%m%l
(2) All singers are tall/A4 TEE T &

Conclusions (ffrptf)
I. Some players are tall

il. All players are tall



2. Statements (H2)
(1) Some vegetables are fruits

&0 Alesdl het §
(2) No fruit is black
S Thel ShTeTT a8l &
Conclusion (F5t)
I. Some fruits are vegetables
D AlesTar Bl &

Il. No vegetables is black

T Hosil ShTeit el &



3. Statements (H¥)
(1) All stones are water

Tt TR Ut ©

(2) Some waters are clean
CERIRIES I

Conclusions (ffr5t)

I. Some stones are clean
S T | &

II. No stone is clean

TS TeR T el &



4. Statements (H2UF)
(1) Some books are pen.

CEACTICRE R
(2) No pen is pencil.
T3 O U et -TEt 8
Conclusions (fis5t)
I. Some books are pencils
EEACTIC RIS N

Il. No book is a pencil.

g forame UfraeT &1 &



5. Statements (H2F)
(1) Some phones are watches

EERIERCEIR
(2) All watches are guns.
|t ot s &
Conclusions (fApt)
1. All guns are watches.

Il. Some guns are phones.



6. Statements (HUA)
(1) All cars are cats.

Toft i fareett &
(2) All fans are cats.
Toft v fareett &
Conclusions (fFr5t)
I. All cars are cats
qeft R fareett &

Il. Some fans are cars
T U HE



7. Statements (H2F)
(1) All pencils are pens

weft Afget i ¥

(2) No pen is a book
g U foRaTar et &

Conclusions (fFr5t)

I. No pencil is a book
g Ut fehaTer 78 8

Il. Some pens are Pencils

Fo U ufet 3



8. Statements (H2F)
(1) All fans are cups

[t U T &
(2) All cups are pillows
Toft o afes
Conclusions (fAspe)
1. All fans are pillows

Il. All pillows are fans



9. Statements (H2)
(1) some stones are bricks.

EERCIECE]

(2) Some bricks are trees
FoieUTE

Conclusions (ffr5t)

I. Some stones are trees
TP URR IS §

Il. Some trees are stones.
TP US U §



10. Statements (HAUH)
(1) All flowers are stems

gt wet o &
(2) All stems are roots
qeft 7 S &
Conclusions (ffr5t)
1. All roots are flowers

Il. All stems are flowers

qsft o HeT &



11. Statements (HAU-)
(1) some visitors are Indians

FS Ik ARAT &

(2) Some visitors are Americans
FD ik AT 8

Conclusions (ffr5t)

I. Some Indians are visitors
T AR q9ieh &

Il. All Indians are visitors

qeft e 29t



12. Statements (H2H)
1. All tigers are ships

eft =fid srere 8

2. Some ships are cupboards
D TS haell §

Conclusions (fA&p)

I. Some tigers are cupboards
S T shaelt &

Il. Some cupboards are tigers

S Shaelt oitd &



13. Statements (H2F)
1. All tigers are ships

eft =fid srere 8

2. Some ships are cupboards
D TS haell §

Conclusions (fAspt)

I. Some ships are cupboards
FD TG haell &

Il. Some cupboards are not ships



14. Statements (H2F)
(1) Some clips are smali

T ot B &
(2) All small are big
st B 9 §
Conclusions (fAspe)
1. All big are small
[t IS B

Il. All small are clips

et Bre foea &



15. Statements (HU+)
1. All books are pencils

Tuft faramar afeel &
2. All pencils are pins
weft Ufseer fuer &
Conclusions (fFs5t)
I. Some pins are books

Il. No pin is a book

g ot U= forarer & €



answer key
1. (a) 2. (b) 3. (c)
8. (a) 9.(d) 10. (d)
15. (a)



